C12-3.13 -f,f,f" Graph Notes

Be careful of bounces!

Find f(x)

f(x) Max : f'(x) =0

f(x)Dec: f'(x) <0

A derivative function

1y .
4 intervals of : Find where &f'(x)>0-f'(x)<0
T -increase f(x) hasa
cpl F®) _gecrease. relative : @
N -maximum
5 i feym>0 -minimum f(x,) Min : f’(x), =0
l fG)Inc: f'(x) >0 &f'(x)<0-f'(x)>0
N4
il fx)m <0 Find v.vhere f(x) Concup: f'(x) >0
ie. Position _up f(x) Concdown : f"(x) >0
-down <Lonc Down : (—2,1)U(3,41>
J Find f () Find where Find where
A |f1tervals of : f(x) hasa: F(x)is
1 f'(x) -increase -maximum concave :
| IP -decrease. -minimum -up
et fGInc: f')>0 = -down
(x) Concup :
;: f(x): Max f

f’(X)>0—>fI(X)<O fr(x)m>0

F'(x) >0

ie. Velocity
L f(x) : Min f(x) Conc down :
::r:?:r{agt))f' Fxm >0 fl(x)>0-f'(x)<0 f'(x) <0
) ") Inc: f(x) >0 f'x)m<o0
-increase Find out where @
-decrease. f(x) has a w
f'x)m<0 pointof f'(x) #0" &
f'(x)Dec: f""(x) <0 inflection. " (x) > Of”(x) <0 frx) < 0 (x)>0
Bec: CLOUGS FEm>0-f@m<0  fm<0-fx)m>0
f'(x) max £'(x) min
G=9 G=D

£

A Second derivative function
ie. Acceleration

Find out where

f(x) hasa

point of
inflection.

Find where

f(x) is concave

_up
-down

F'(x) # 0* &
') >0 f'(x) <0

G=D

f(x) Concup :
f"(x) >0

f'x)<0-f"(x)>0

f(x) Conc down :
f'"(x) <0

Cone down + (~2,~DULBUGED
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